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QUESTION 1

A company has a requirement to modify a purchase requisition publish channel and filter out requisitions that have a
status of APPR. This should be accomplished without developing any new code.

Which method should they implement to accomplish this?
A. User Exit

B. Message Routing

C. Processing Rules

D. Automation Scripts

Correct Answer: A

QUESTION 2

A user belongs to two independent security groups both granting full access to the Asset application for all Sites. One of
the security groups also has an Object restriction configured as shown below.

Which statement is correct?

A. The user will only see Assets of Type IT.

B. The user is restricted from seeing Assets of Type IT.

C. The user\\'s permissions will be based on the highest ranked security group.

D. The user will be granted the highest permission possible and will see all Assets.

Correct Answer: C

QUESTION 3
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The users at a company are experiencing delays during Maximo login.
What is the most likely cause?

A. Too many Start Center tabs.

B. Too many portlets on the default Start Center.

C. Inclusion of left side bar navigation menus and options.

D. Too many favorite application links on the default Start Center.

Correct Answer: B

QUESTION 4

A company\\'s DBA configured a database for Maximo using the default values from the Maximo Installation Guide. The
Maximo administrator wishes to confirm the successful creation of the database and tablespaces.

How can this be achieved?

A. Run the Validate_Middleware utility and select only \\'Database\\'".

B. Run the Validate_Middleware utility and select \\'Database\\' and Tablespaces\\'.

C. Use SQL to check for existence of database mxedb and tablespaces MAXDATA, MAXTEMP and MAXIND.

D. Use SQL to check for existence of database maxdb76 and tablespaces MAXDATA, MAXTEMP and MAXINDEX.

Correct Answer: A

QUESTION 5

An administrator wants to view the number of Ad Hoc (QBR) reports created by users and the last time each report was
run. Where can the administrator view this Information?

A. QUICKREPORT

B. MXSERVER Log File

C. REPORTUSAGELOG

D. REPORTADHOC Cron Task

Correct Answer: B

QUESTION 6

A company\\'s users are seeing slow performance when opening the Work Order Tracking application. After some
investigation it is determined that the default query is doing a full table scan.
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How can this be prevented?

A. Verify default table indexes exist.

B. Verify columns in the SQL statement WHERE clause are not indexed.

C. Verify no leading wildcard character in the SQL statement WHERE clause.

D. Verify the Maximo user executing the SQL statement has query rights to the table.

Correct Answer: A

QUESTION 7

A company wants to optimize query performance using Maximo search options. Which of the following is the best

option?

A. None

B. Index

C. Exact

D. Wildcard

Correct Answer: A

QUESTION 8

A company wishes to create a custom dialog to display Domain values from an attribute in Maximo.
How can this be accomplished?

A. In the Lookups application.

B. In the Database Configuration application.

C. By editing the Lookups.xml file from Application Designer.

D. By editing the Lookup definition with Domains application.

Correct Answer: D

QUESTION 9
Email notifications are going to the wrong administrative user.
How do you correct this?

A. Communication Templates -> Administrative User -> Update Administrative User email
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B. Security -> Users -> Update Administrative User email -> Click Save -> Click Live Refresh
C. Communication Templates -> Administrative User -> Update Administrative User email - > Click Live Refresh

D. System Properties -> Update mxe.adminEmail Global Value -> Click Save -> Select mxe.adminEmail Global Value ->
Click Live Refresh

Correct Answer: D

QUESTION 10

A user is a member of four Non-Independent security groups which have different purchase Order limits set for sites
within the same organization. Security Group 1 Site = Bedfont Purchase order limit = $1000 Security Group 2 Site =
Bedfont, Southbank Purchase order limit = S15000 Security Group 3 Site = Portsmouth Purchase order limit = $20000
Security Group 4 Site = Farnham Purchase order limit = S3000 What will the purchase order limit be for the user when
working with the Farnham site?

A. $1000

B. $3000

C. $15000

D. $20000

Correct Answer: B

QUESTION 11

A company has a Work Order Workflow process with a task assignment thai has a time limrt A Wofk Order on thai
assignment in the Workflow process has not been completed within the time limit. The assignment owner needs to be
notified.

How can this be triggered?

A. Escalation

B. Work Order Cron Task

C. Bulletin Board Message

D. Email listener sends an email to the supervisor

Correct Answer: C

QUESTION 12

In order to analyze Maximo system performance, the Maximo administrator wants to determine SQL statement
execution time.

What logging feature is used?
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A. Maximo SQL Logger

B. system property mxe.db.logSQL

C. system property mxe.mbocount

D. system property mxe.db.logSQLTimelimit

Correct Answer: A

QUESTION 13

A company is running the VMMSYNC Cron Task to add users to Maximo from the LDAP directory server. Not all the
users are being created in Maximo. Which log setting can be defined to see more information?

A. Set log4j.logger.maximo.sgl.crontask. VMMSYNC to ERROR
B. Set log4j.logger.maximo.sql.crontask. VMMSYNC to DEBUG
C. Set log4j.logger.maximo.process.crontask. VMMSYNC to ERROR
D. Set log4j.logger.maximo.process.crontask.VMMSYNC to DEBUG

Correct Answer: C

QUESTION 14

A company wants to attach documents to records in Maximo. The documents are to be stored on a local file share that
the Maximo Application Servers (JVMs) have access to.

Which of these tasks must be performed?

A. Enable attached documents from the Organizations application.

B. Set mxe.docink doctypes.defpath in the Documents application.

C. Set mxe.doclink.doctypes.defpath in the System Properties application.
D. Enable attached documents from the Database Configuration application.

Correct Answer: C

QUESTION 15

A company wishes to prevent two or more users from changing the same record at the same time. How can this be
achieved?

A. Enable Edit Mode on the Database Object.

B. Enable Edit Mode on the Application Definition.
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C. Configure Conditional Security to make all fields read only.
D. Disable concurrent record access to the Database Configuration application.

Correct Answer: D
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